

$$f(x) = \begin{cases} a + \sqrt{x} & x < 1 \\ b\sqrt{x} & x \geq 1 \end{cases} \xrightarrow{\text{Rp. swg.}} \lim_{x \uparrow} f(x) = \lim_{x \downarrow} f(x) \rightarrow \boxed{a+1=b} \quad *$$

[illegible]

$$\rightarrow f'_+(v) \in f'_-(v) \rightarrow x \in b \times \frac{y}{y} \times x^{-\frac{1}{y}} \rightarrow \frac{yb}{y} = 1 \rightarrow \begin{cases} b = \frac{y}{y} \\ a+b=y \end{cases} \xrightarrow{*} \begin{cases} a = \frac{1}{y} \end{cases}$$

$$f(n) = \frac{(n-1)}{\sqrt{n^3}} \rightarrow f'(n) = \frac{n-1}{\sqrt{n^3}} \rightarrow f'(x) = \frac{-x^{\frac{3}{2}} \sqrt{n^3} - \frac{1}{2} n^{\frac{1}{2}} \times (x-1)}{(\sqrt{n^3})^2} = \frac{-1}{\sqrt{n}}$$

$$g(n) = \frac{\sqrt{n^3-1} + \sqrt{n^3}}{\sqrt{n^3}} \rightarrow g'(n) = \frac{x-1 + \sqrt{n^3}}{\sqrt{n^3}} \rightarrow g'(x) = \frac{\sqrt{n^3}(-1 + \frac{x}{\sqrt{n^3}}) - (x-1 + \sqrt{n^3})(\frac{x}{\sqrt{n^3}})}{(\sqrt{n^3})^2}$$

$$\rightarrow g'(x) = -1 + \frac{x}{\sqrt{n^3}} - (1 + \sqrt{n^3}) \left(\frac{x}{\sqrt{n^3}} \right) = -1 - \frac{x}{\sqrt{n^3}} - \frac{x}{\sqrt{n^3}} + \frac{x}{\sqrt{n^3}} = -\frac{1}{\sqrt{n^3}} - \frac{1}{\sqrt{n^3}}$$

$$= \frac{-1 - \sqrt{n^3}}{\sqrt{n^3}}$$

$$f'(x) - x g'(x) = \frac{-1}{\sqrt{n}} - \left(\frac{-1 - \sqrt{n^3}}{\sqrt{n^3}} \right) = \frac{\sqrt{n^3}}{\sqrt{n^3}} = 1$$

$$h(n) = \begin{cases} b+n & n \leq a \\ \frac{1}{n} & n > a \end{cases} \xrightarrow{\text{Laplace}} \int_{-\infty}^{\infty} h(n) e^{-sn} dn = \int_{-\infty}^a (b+n) e^{-sn} dn + \int_a^{\infty} \frac{1}{n} e^{-sn} dn$$

$$\xrightarrow{\text{Laplace}} \int_{-\infty}^a (b+n) e^{-sn} dn = \int_{-\infty}^a b e^{-sn} dn + \int_{-\infty}^a n e^{-sn} dn = \frac{b}{s} + \frac{1}{s^2}$$

$$\xrightarrow{\text{Laplace}} \frac{b}{s} + \frac{1}{s^2} = \frac{b}{s} + \frac{1}{s^2}$$

$$g(-\sqrt[r]{r}) = \frac{1}{(-\sqrt[r]{r})^r - 1 - \sqrt[r]{r}} = \frac{1}{-r-r} = -\frac{1}{r}$$

31

$$\phi(-\frac{1}{\varepsilon}) = \frac{1}{\sqrt[r]{-\frac{1}{\varepsilon} - \frac{1}{\varepsilon}}} = (-\frac{1}{r})^{-\frac{1}{r}} = -(r)^{-1 \times -\frac{1}{r}} = -r^{\frac{1}{r}} = -\sqrt[r]{r}$$

$$\rightarrow \phi \circ g(n) = n$$

$$g'(n) \times \phi'(g(n)) = (n)' = 1$$

$$(\phi \circ g)' = g'(\frac{r}{\sqrt{\lambda}}) \times \phi'(g(\frac{r}{\sqrt{\lambda}}))$$

$$g(\frac{r}{\sqrt{\lambda}}) = \frac{1}{\sqrt[r]{\frac{q}{\lambda} - 1}} = r \rightarrow g'(\frac{r}{\sqrt{\lambda}}) \times \phi'(r)$$

$$g'(\frac{r}{\sqrt{\lambda}}) = -\frac{1}{r} (\frac{r}{\sqrt{\lambda}} - 1)^{-\frac{r}{r}} \times r = \frac{q}{\sqrt{\lambda}} \times -\frac{1}{r} \times (\frac{q}{\lambda} - 1)^{-\frac{r}{r}} = -\frac{r}{\sqrt{\lambda}} \times (r)^{-\frac{r}{r}} = -\frac{r^{\Delta} \times \sqrt{r}}{r} = -\lambda \sqrt{\lambda}$$

$$f(n), n=r \rightarrow f(n) = n[\varepsilon]_{+1}^r = n n_{+1}^r \rightarrow f'(r) = r r(r) = 4r$$

$$\frac{-\lambda \sqrt{r} \times 4r}{-1 \times \lambda \sqrt{r}} = r$$

$$g'(n) = f'(n+1) + r f'(r n+1)$$

$$\xrightarrow{n=-r} g'(-r) = f'(-1) + r f'(-1) \xrightarrow{f'(-1) = f'(-1)} g'(-r) = f'(-1) = r \times \frac{r}{r} = \boxed{r}$$

1